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B1(0;4V17; 4V2)
C1(16V17 / 17; 4V17 / 17; 4V2)
P(p1;p2;p3)

C1B1{-16V17 / 17; 64V17 / 17; 0}
C1P{-16V17 / 51; 64V17 / 51; 0}
C1P{p1 - 16V17 / 17; p2 - 4V17 / 17; p3 - 4V2}

p1 - 16V17 / 17 = -16V17 / 51
p2 - 4V17 / 17 = 64V17 / 51
p3 - 4V2 = 0

p1 = 32V17 / 51
p2 = 76V17 / 51
p3 = 4V2
P(32V17 / 51; 76V17 / 51; 4V2)

H

CH = 16 * 4 / 4V17 = 16V17 / 17
AH = V(16 - (16V17 / 17)^2) = 
= 4V17 / 17

Q - середина A1B1 => тр ABL ~ тр QB1L =>
B1L = 4V2 => BL = 8V2
L(0;4V17; 8V2)
3x = 16
x = 16/3
NB = 4x = 64/3
NC = NB - CB = 64/3 - 16 = 16/3
NC = x => коэф подобия тр (C1PM и MCN)= 1=> 
M - середина

A1(0;0;4V2)
Q(0; 2V17; 4V2) A1Q{0; 2V17; 0}

QP{32V17 / 51; -26V17 / 51; 0}
AQ{0; 2V17; 4V2}

i j k

32V17 / 51 -26V17 / 51 0

0 2V17 4V2

n{104V34 / 51; -128V34 
/ 51; -1088 / 51}

n{104V34 / 51; -128V34 / 51; -1088 / 51}

d= |(AB,n)| / |n|
d = (-128V34 / 51 * 2V17) / V(104V34 / 51)^2 + (128V34 / 51)^2 + (1088 / 51)^2
 = 32V57 / 57


